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H H N X & E3
B 1 |78% 2 [81% 3 [80% 4 [80% 5 [81% 6 [80% 7 [79%
$,§ % 1,810 = 2,070 % 2,080 = 2,100 % 2,060 = 2,040 % 1,890
f# 2,301 f# 2,531 f#t 2576 f# 2,595 f# 2532 f# 2,530 f# 2,375
=i 77% 81% 80% 79% 81% 80% 78%
(FESRIE)] 1,782 (188%F-198%) | 2,063 (17R5-188%) | 2,075 (1785-188%) | 2,073 (178%-188%) | 2,063 (1785-188%) | 2,033 (17R5-188%) | 1,871 (178%-188F)
rEYHR
B 8 [79% 9 [83% 10 [85% 11 [84% 12 [86% 13 [86% 14 [88%
$,§ % 1,860 = 2,150 % 2,140 = 2,180 % 2,240 = 2,250 % 2,090
f# 2,327 f# 2,580 f# 2,507 f# 2,585 f# 2,596 f# 2,587 f# 2,360
=i 78% 83 85t 83 87% 87% 87%
(FESRIE)] 1,832 (18BF-198%) | 2,152 (17R5-188%) | 2,151 (178%-188%) | 2,157 (17r%-188%) | 2,260 (1785-188%) | 2,255 (178%-188%) | 2,074 (178%-188F)
rEYHR W1 SHREEEL
B 15 [81% 16 [88% 17 [83% 18 [89% 19 [83% 20 [89% 21 [82%
$,§ £ 1,920 £ 2,230 F£ 2220 %= 2,350 % 2,170 = 2,290 % 2,050
f# 2,370 f# 2,509 f# 2,649 f# 2,640 f# 2,606 f# 2,558 f# 2,496
=i 81% 90% 83 86% 85t 89% 84%
(FESRIE)] 1,938 (18BF-198%) | 2,259 (17R5-188%) | 2,223 (1785-188%) | 2,291 (178%-188%) | 2,236 (1785-188%) | 2,295 (178%5-188%) | 2,109 (108%-118F)
rEYHR 1 SHER
B 22 [81% 23 [79% 24 [88% 25 [85% 26 [83% 27 [79% 28 [80%
$,§ % 1,970 = 2,060 % 2,280 = 2,240 % 2,200 = 2,120 % 2,030
#2411 f# 2,597 f# 2,584 f# 2,634 #2647 f# 2,668 f# 2522
=i 80% 78% 861 81% 82 79% 79%
(FESRIE)] 1,950 (18BF-198%) | 2,048 (18R%-198%) | 2,246 (178%-188%) | 2,149 (17r%-188%) | 2,190 (1785-188%) | 2,134 (1785-188%) | 2,002 (18R%-198F)
rEYHR
B 29 [78% 30 [76% 31 [77% | | | |
$,§ F 1,840 % 1,780 %= 1,670
it 2,341 f# 2,325 it 2,156
=i 81% 78% 77%
(FESRIE)] 1,897 (18B%F-198%) | 1,815 (18R5-198%) | 1,680 (18RF-198F)
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B A R X x Fa £
. | | | 1 |73% 2 [72% 3 [74% 4 [75%
if‘a % 1,530 % 1,550 = 1,680 % 1,840
- f# 2,091 f# 2129 #2241 f#t 2435
=i 71% 73% 72% 76%
(RESRIE) 1,486 (188F-198F) | 1,566 (18RF-198F) | 1,624 (1885-198%) | 1,853 (18FF-196F)
TR A3 S M R RBIA
B 5 [79% 6 [84% 7 [83% 8 [84% 9 [85% 10 [88% 11 [80%
$*§ % 1,950 + 2,240 % 2,280 = 2,280 % 2310 % 2,350 % 2,080
f# 2,460 f# 2,657 # 2,729 # 2,695 f# 2,691 f# 2,642 f# 2,570
=i 80% 83% 83% 85% 87% 88% 81%
(FESRIE)] 1,969 (18R5-198%) | 2,216 (178F-188%) | 2,272 (9B5-108%) | 2,306 (1785-188%) | 2,346 (1885 -198%) | 2,350 (17R%-188%) | 2,095 (1885-198%)
rEYHR
. 12 [80% 13 [81% 14 [90% 15 [83% 16 [83% 17 [87% 18 [86%
$*§ % 1,980 % 2,150 % 2,380 % 2,310 % 2,340 = 2,340 % 2,130
f# 2,473 #2646 # 2,634 f# 2,783 f# 2,795 f# 2,663 f# 2,462
=i 80% 82% 89% 82% 82 85% 86%
(FESRIE)] 1,996 (18R%-198%) | 2,185 (18R%F-198%F) | 2,360 (18R%-198%) | 2,308 (9R%-108%) | 2,307 (9BE-108%) | 2,288 (18R%-198%) | 2,131 (9BF-108%)
rEvoR| E-eSHREEEL
. 19 [84% 20 [88% 21 [88% 22 [89% 23 [83% 24 |83% 25 [77%
$*§ % 2,100 % 2,310 % 2,320 % 2,380 % 2,330 = 2,290 % 1,990
f# 2,478 f# 2,599 f# 2,608 # 2,647 f# 2,785 f# 2,733 f# 2,563
=i 85% 90% 89% 89% 83 82% 76%
(FESR1E)] 2,125 (18B5-198%) | 2,343 (178%-188%) | 2,346 (18R5-198%) | 2,373 (18RF-198%) | 2,330 (9BF-108%) | 2,267 (9RF-108%) | 1,967 (9BF-108F)
rEWH R 1B 6518 IR
. 26 [83% 27 |83% 28 [81% 29 [79% 30 [84% 31 [79% |
$*§ = 2,090 % 2,360 % 2,250 % 2,180 % 2,260 % 2130
f# 2,511 f# 2,830 f# 2,763 f# 2,743 f# 2,666 # 2,675
=i 80% 80% 81% 77% 85% 76%
(FESRIE)] 2,014 (18BF-196F) | 2,277 (18BF-198F) | 2,256 (9BF-108F) | 2,135(18RF-198F) | 2,277 (L0FF-118F) | 2,049 (18RF-19F)
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348 % 1,960
f# 2,509
e 74%
(Fe4RiE) 1,868 (18RF-198F)
rEYHR
B 2 [75% 3 [81% 4 [83% 5 [85% 6 [87% 7 [89% 8 [92%
$,§ % 1,720 = 2,230 % 2,310 = 2,420 % 2,390 = 2,360 % 2,240
f# 2,284 # 2,752 f# 2,783 f# 2,835 f# 2,726 # 2,642 f# 2,425
=i 76% 72% 82 84% 89% 89% 92
(FESRIE)] 1,748 (18B5-198%) | 1,990 (1785-188%) | 2,301 (18RF-198F) | 2,392 (18R%-198%) | 2,449 (1885-198%) | 2,375 (18RF-198%) | 2,242 (108%-118%)
rEYHR
B 9 [80% 10 [91% 11 [82% 12 [92% 13 [90% 14 [92% 15 [91%
$,§ % 2,000 = 2,390 % 2,140 = 2,330 % 2,350 = 2,440 % 2,140
f# 2,496 # 2,612 f# 2,599 f# 2,532 f# 2,609 f# 2,630 f# 2,347
=i 81% 90% 87% 91% 90% 90%
(FESRIE)] 2,030 (1985F-208%) | 2,359 (18R%-198%) | 2,274 (188F-198F) | 2,307 (18R%-198%) | 2,369 (18R5-198%) | 2,523 (108F-118%) | 2,131 (18R%-198F)
FEYHR TR S NHIH RE3SHER
B 16 [78% 17 [88% 18 [87% 19 [88% 20 [83% 21 [83% 22 [87%
$,§ % 1,980 = 2,290 % 2,380 = 2,360 % 2,320 = 2,320 % 2,080
f# 2514 f# 2,601 f#t 2,725 f# 2,668 f# 2,773 # 2,791 f# 2,381
=i 78% 87% 87% 87% 82 82 861
(FESRIE)] 1,973 (198%F-208%) | 2,276 (18R5-198%) | 2,396 (18RF-198F) | 2,332 (18R%-198%) | 2,288 (18R%-198%) | 2,300 (18RF-198%) | 2,056 (18RF-198)
rEYHR
B 23 [84% 24 [84% 25 [80% 26 [77% 27 [82% 28 [79% |
$,§ % 2,000 = 2,240 % 2,150 = 2,080 % 2,120 = 2,040
fi 2,366 f# 2,662 i 2,683 f# 2,672 i 2,569 f# 2,572
=i 82 81% 79% 77% 79% 73%
(FE¥RIE)] 1,958 (198F-208%) | 2,180 (9R%-108%) | 2,145(9rE-108F) | 2,066 (9R%-108%) | 2,042 (11R5-128%) | 1,903 (188%-198F)
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348 7 1,800
f# 2,321
RiE 78%
(HEHRIE) 1,833 (18FF-198F)
rEWH R 512 1 S R AR
B 2 [75% 3 [82% 4 [82% 5 [82% 6 [87% 7 |89% 8 [83u%
i@ % 1,790 %= 2,090 % 2,150 %= 2,080 % 2,230 = 2,290 % 2,030
f# 2,357 # 2,521 f# 2,595 f# 2,528 f# 2,560 f# 2,568 f# 2,423
=i 75% 84% 80% 84% 89% 87% 82
(RERAB)| 1,786 (18R%-198%) | 2,124 (188%-198%) | 2,083 (9R%-108%) | 2,124 (18R%-198%) | 2,290 (188%-198%) | 2,235 (18R%5-198%) | 1,988 (18R%-198%)
rEvsz] @1 SHEEEL 15 = 5B S Y51 2R
. 9 [79% 10 [92% 11 [92% 12 [79% 13 [86% 14 |85% 15 [81%
i@ % 1,890 = 2,290 % 2,220 % 2,020 % 2,070 % 2,120 %= 1,920
f# 2,372 f# 2,465 f# 2,403 f# 2,535 f# 2,380 # 2467 f# 2,351
=i 79% 93% 89% 80% 86% 85% 79%
(FESRIE)] 1,888 (19R5-208%) | 2,314 (18R%F-198%) | 2,155(0R%-108%) | 2,039 (9R%-108%) | 2,069 (18R%-198F) | 2,109 (18R5-198%) | 1,870 (9BF-108%)
rEYHR
. 16 [77% 17 |78% 18 [79% 19 [79% 20 [80% 21 [80% 22 [78%
i@ % 1,720 % 1,910 % 1,920 % 1,920 % 1,980 %= 1,860 %= 1,840
fit 2,233 f# 2,428 f# 2,404 #2411 it 2,445 f# 2,317 fit 2,337
=i 78% 77% 80% 78% 82 84% 78%
(FESRIE)] 1,746 (1985-208%) | 1,889 (9R%-108%) | 1,928 (11R%-128%) | 1,894 (18R%-198%) | 2,013 (1785-188%) | 1,968 (198%-208%) | 1,836 (19BF-208%)
rEWH R IR 55118 1R
. 23 [77% 24 [80% 25 [75% 26 [79% | | |
i@ % 1,770 % 1,910 % 1,830 %= 1,920
# 2,274 f# 2,383 f# 2,409 f# 2418
=i 74% 77% 75%
(FESRIE)] 1,699 (19R5-208%) | 1,837 (18RF-198%) | 1,825 (18R5-198F)
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